. VCE & PDF https://www.pass4itsure.com/c2090-011.html
g 2024 Latest passditsure C2090-011 PDF and VCE dumps Download

PassditSure.com

C2090-011°%As

IBM SPSS Statistics Level 1 v2

Pass IBM C2090-011 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/c2090-011.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

C2090-011 PDF Dumps | C2090-011 Study Guide | C2090-011 Braindumps 1/4


https://www.pass4itsure.com/c2090-011.html
https://www.pass4itsure.com/c2090-011.html
https://www.pass4itsure.com/c2090-011.html

VCE & PDF https://www.pass4itsure.com/c2090-011.html
2024 Latest passditsure C2090-011 PDF and VCE dumps Download
PassditSure.com

QUESTION 1

If you build an expression manually, as opposed to using a function (e.qg., specify (V1+V2)/2 instead of MEAN (V1 , V2)),
which statement is true?

A. If any of the variables usedin the expression has a missing value, it will be ignored and the expression will proceed to
evaluate with variables that have valid values.

B. It will always return a valid value for each case, regardless of whether one or more of the source variablevalues are
missing.

C. If any of the variables used in the expression has a missing value, the result for that case is a system-missing value.

D. If any of the variables used in the expression has a missing value, you will get a notification pointing thisout before
you proceed.

Correct Answer: C

QUESTION 2

After studying the figure belowl select the correct statement.

s Gss93.sav [DataSet2] - PASW Statis... [ [B|X

File Edt MNew Data Transform Anshyze Graphs Ulties Add-ons  Window  Help
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4 | 0o 45 2 o 1 1 2
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&= | 1 __na o a5 1 n o |
4[] I3

ﬁAMMm is :rem:h;

A. Gss93.sav is the dataset name.
B. DataSet2 is the dataset name.
C. DataSet2 is the file name.

D. DataSet2 is both the file and dataset name.
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Correct Answer: B

QUESTION 3

If you use the IBM SPSS Statistics Select Cases dialog to conduct analysis on a subset of cases and you want to keep
all cases in the same dataset, which option is appropriate?

A. Copy unselected cases to a new dataset
B. Copy selected cases to a new dataset
C. Delete unselected cases

D. Filter out unselected cases

Correct Answer: D

QUESTION 4

Suppose you want to copy and paste variable definitionsfrom 481 variables in one data file to 481 corresponding
variables in a second data file. The only way to do this is to select and copy each variable\\'s definitions in the first file
and paste to the corresponding variable in the second file.

A. True

B. False

Correct Answer: B

QUESTION 5

Which interpretation is correctfor this Regression Coefficients table?

Coefficients”
Standardized
Unstandardized Coeflicients Coeflicients
Nods| B Std. Errcr Beta { Sig.

1 (Constant) 621687 1186 460 -527 Riiele]
Employee Gender -1623.252 264,350 -.249 -6.163 2000
Minority Classification -892 918 284 710 - 124 -3.487 001
Educational Level [years) G4z 284 43,296 589 14.835 000
Employee Age 33,871 17.265 13 2.078 038
Work Experience (years) 22.G85 22.002 06z a6z 237
Months on Job <21.770 11.126 - 068 «1.957 051

a. Dependent Variable: Beginning Salary
A. For every additional year that you get older, your beginning salary decreases on average by $13.
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B. For every additional year that you get older, your beginning salary decreases on average by $35.9.
C. Forevery additional year that you get older, your beginning salary increases on average by $13.
D. For every additional year that you get older, your beginning salary increases on average by $35.9.

Correct Answer: D
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